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9.4 Brpning Cubic

Olut are Haa rooks (2ews)
o-f— HM ‘Q\AV\O‘(G\P
o 3 veot?
@,#M { J zr
Deuble Y :—(X"'/)(y"z)
- 3
/V‘I‘PLL 9 = (X—f)

Y= (-0l xt1)

Ve (et D=1 -2)

(d athn.)

3=-(X+I)(x——l)a

7.5 56(\/'_“3 Cubic fluctims
‘j (x—Dlx+2)(x=S) C]“ﬂdra-(-ir Fov emoanlac
x= "4 = x%-2x +7
- 2x%54 o+ 12X CL | b=-2 &7 , 2T
j:Zx(;z+5¢ + ) Z+ﬁf73— Az &ic, & ‘
g 2x(x+ 312 . ,+@L
x=h o f; *zl/;’t
t
7 L r)>o~v'\m.u('ri,(’ %uq{/b-y\s
X= ZD/ - _ 2
T oo \/Arcwb(l-) In yed/-/,),\ l’:é \L] /0 7
Lo time £ 24 y=1o- Vj[*)
. Y9
Solve ‘F"( +) 'H'\ln w}w"l"w}‘e 9‘ /0’;/2
=443 22¢ 15 e Y0k
x)—<3 =t jy 26-9)¥3 ) © 37 Wzo ngo
g, Z)("ff5 %‘ m— =X (qJ
=2 mf fw
2%t~




